Name: _______________________________________________  Date: _________________  Period: ____


CANDY (H. chocolatius) Cladogram
Problem:

How has the candy bar evolved from simple Hershey’s chocolate to the multitude of candy bars we have today?  What are some derived characters (traits) that are found in the most evolved species of candy that the primitive ancestors of the chocolaty treats are missing?  In this lab, you will attempt to create a diagram that will illustrate the evolution of candy, from simple beginnings to delicious results.

PROCEDURE

1. Identify the characteristics for each candy piece.  What ingredients does each one have?  Complete the chart by putting a check in the box if the characteristic is found in each candy bar. 
	
	Chocolate
	Nougat
	Caramel
	Sugar
	Nuts
	Candy-coated shell

	Milky Way
	
	
	
	
	
	

	Hershey bar
	
	
	
	
	
	

	Three Musketeers
	
	
	
	
	
	

	Snickers
	
	
	
	
	
	

	Skittles
	
	
	
	
	
	

	Starburst
	
	
	
	
	
	


Creating the Candy Cladogram
1. Using the space below, construct your cladogram.  When completed, your most primitive (simplest) candy will be listed on the first branch at the bottom and your most complex or highly evolved will be listed at the branch on the top.

2. Label the space between each branch of the cladogram with the characteristic that has evolved.
Cladogram of Candy
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CONCLUSION QUESTIONS 
1. Where (top or bottom) are the most highly evolved members of a species located on a cladogram?

2. Where (top or bottom) are the most primitive organisms found on a cladogram?
3. Using the cladogram, what characteristics do 3 Muskateer’s and Milky Way share? 
Using a Dichotomous Key
Use the dichotomous key below to answer questions 1-3.
Dichotomous Key of Candy

	1
	a. circular in shape
	Go to line 2

	
	b. not circular (maybe square or rectangular)
	Go to line 4

	2
	a. letters/print on them
	Choco-bits 

	
	b. do not have writing on them
	Go to line 3

	3
	a. Colors include purple, red, yellow, green &/or orange
	Fruity pieces 

	
	b. Colors include yellow, orange and brown
	ET’s eats

	4
	a. does not contain chocolate
	Supernova

	
	b. has chocolate in it
	Go to line 5

	5
	a. Contains peanuts
	Giggles

	
	b. Does not contain peanuts
	Tres amigos 


1. Based upon this dichotomous key, what would you call the piece of candy shown in this picture? _______________________________________________________ 

2. List 3 characteristics about ET’s eats that you learn by using the key: 

· ________________________________________________

· ________________________________________________

· _________________________________________________

3. Complete the following statements about dichotomous keys:  

· If you are given a piece of candy you’ve never seen before, a dichotomous key could help you figure out _________________________________________________________________________________.

· If you were told the name of a new piece of candy that you didn’t have in front of you, a dichotomous key could be use to _____________________________________________________________________.
Concluding Questions: 
4. Which species on the cladogram (A, B or C) is the most highly evolved? ____
5. Place an X on the cladogram to show where the common ancestor of all three organism would be.

sugar





Primitive candy ancestor








